Vraag 1
	jaar
	1990
	1995
	2000
	2005
	2010
	2015

	gemiddelde prijs (€)
	14.500
	16.000
	18.000
	20.500
	22.000
	25.000

	berekening
	 basisjaar
	 [image: alt]
	 [image: alt]
	 [image: alt]
	 
	 

	Antwoord
	100
	 110
	 124
	 141
	 152
	 172



Vraag 2
	jaar
	salaris
	indexcijfer

	2014
	€ 1500,-
	100

	2015
	€ 1590,-
	106

	2016
	€ 1725,-
	115

	2017
	€ 1620,-
	108

	2018
	€ 1470,-
	98



Vraag 3
Bereken de waarde van de omzet in de ontbrekende jaren.

	Jaar
	1994    
	1995    
	1996     
	1997    
	1998    

	Indexcijfer
	99
	100
	103
	118
	119

	Omzet
	€208395
	€210500
	€216815
	€248390
	€250495


1994 >>> €210500 : 100 x 99 = €208395
1996 >>> €210500 : 100 x 103 = €216815
1997 >>> €210500 : 100 x 118 = €248390
1998 >>> €210500 : 100 x 119 = €250495

image1.png
12500 100




image2.png
12500 100




image3.png
12500 100




